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QUESTION 1

Which two object privileges can be restricted to a subset of columns in a table? (Choose two.) 

A. INDEX 

B. ALTER 

C. UPDATE 

D. INSERT 

E. DELETE 

Correct Answer: CD 

 

QUESTION 2

Which two statements cause changes to the data dictionary? (Choose two.) 

A. DELETE FROM scott.emp; 

B. ALTER SESSION SET NLS_DATE_FORMAT = `DD/MM/YYYY\\'; 

C. GRANT UPDATE ON scott.emp TO fin manager; 

D. SELECT * FROM user_tab_prive; 

E. TRUNCATE TABLE emp; 

Correct Answer: BC 

 

QUESTION 3

The INVOICE table has a QTY_SOLD column of data type NUMBER and an INVOICE_DATE column of data type
DATE NLS_DATE_FORMAT is set to DD-MON-RR. 

Which two are true about data type conversions involving these columns in query expressions? 

A. invoice_date> \\'01-02-2019\\': uses implicit conversion 

B. qty_sold =\\'05549821 \\': requires explicit conversion 

C. CONCAT(qty_sold, invoice_date): requires explicit conversion 

D. qty_sold BETWEEN \\'101\\' AND \\'110\\': uses implicit conversion 

E. invoice_date = \\'15-march-2019\\': uses implicit conversion 

Correct Answer: DE 
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QUESTION 4

Which two statements are true about substitution variables? 

A. A substitution variable used to prompt for a column name must be endorsed in single quotation marks. 

B. A substitution variable used to prompt for a column name must be endorsed in double quotation marks. 

C. A substitution variable prefixed with and always prompts only once for a value in a session. 

D. A substitution variable can be used with any clause in a SELECT statement. 

E. A substitution variable can be used only in a SELECT statement. 

F. A substitution variable prefixed with 6 prompts only once for a value in a session unless is set to undefined in the
session. 

Correct Answer: DF 

 

QUESTION 5

Examine the BRICKS table: 

You write this query: 

SELECT 

FROM bricks b1 CROSS JOIN bricks b2 

WHERE b1. Weight 

How many rows will the query return? 

B. 16 

C. 10 

D. 6 

E. 4 

F. 0 
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Correct Answer: D 
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